

# ALMOST INCREASING SEQUENCES AND THEIR APPLICATIONS

SANJAY TRIPATHI AND N. V. PATEL

*Department of Mathematics, Faculty of Science, M. S. University of Baroda,  
 Vadodara 390 002, Gujarat, India*

*(Received 22 December 1999; after revision 1 May 2000; accepted 22 October 2000)*

Recently, Bor<sup>3</sup> proved a theorem on  $|\bar{N}, p_n|_k$  summability factors of an infinite series. In this paper, we prove a general theorem on  $|\bar{N}, p_n, \phi_n|_k$  summability Factors of an infinite series, under weaker conditions by using an almost increasing sequence in place of an increasing sequence.

**Key Words :** Infinite Series; Summability; Summability Factors; Almost Increasing Sequence

## 1. INTRODUCTION

Let  $\sum_{n=0}^{\infty} a_n$  be a given infinite series with  $(s_n)$  as the sequence of its partial sums. Let  $(\sigma_n)$  and  $(t_n)$  denote the  $n$ th  $(C, 1)$  means of the sequence  $(s_n)$  and  $(na_n)$  respectively. The series  $\sum_{n=0}^{\infty} a_n$  is said to be summable  $|C, 1|_k, k \geq 1$ , if (see [1])

$$\sum_{n=1}^{\infty} n^{k-1} |\sigma_n - \sigma_{n-1}|_k < \infty. \quad \dots (1)$$

In view of the fact that  $t_n = n(\sigma_n - \sigma_{n-1})$  (see [5]),

(1) can be written as

$$\sum_{n=1}^{\infty} \frac{|t_n|^k}{n} < \infty. \quad \dots (2)$$

Let  $(p_n)$  be a sequence of positive real numbers such that

$$P_n = \sum_{v=0}^n p_v \rightarrow \infty, \text{ as } n \rightarrow \infty \quad (P_{-i} = P_{-i} = 0, i \geq 1). \quad \dots (3)$$

The sequence-to-sequence transformation

$$w_n = \frac{1}{P_n} \sum_{v=0}^n p_v s_v \tag{4}$$

defines the sequence  $(w_n)$  of the  $(\bar{N}, p_n)$  means of the sequence  $(s_n)$  generated by the sequence of coefficients  $(p_n)$  (see [2]). The series  $\sum_{n=0}^{\infty} a_n$  is said to be summable  $|\bar{N}, p_n|_k, k \geq 1$ , if (see [4])

$$\sum_{n=1}^{\infty} \left( \frac{P_n}{p_n} \right)^{k-1} |w_n - w_{n-1}|^k < \infty. \tag{5}$$

Let  $(\phi_n)$  be any sequence of positive real constants. Then the series  $\sum_{n=0}^{\infty} a_n$  is said to be summable  $|\bar{N}, p_n, \phi_n|_k, k \geq 1$ , if (see [6])

$$\sum_{n=1}^{\infty} \phi_n^{k-1} |w_n - w_{n-1}|^k < \infty. \tag{6}$$

Clearly  $\left| \bar{N}, p_n, \frac{P_n}{p_n} \right|_k = |\bar{N}, p_n|_k, |\bar{N}, p_n, 1|_1 = |\bar{N}, p_n|$ , and  $|\bar{N}, 1, n|_k = |C, 1|_k$ .

We need the concept of almost increasing sequence. A positive sequence  $(b_n)$  is said to be almost increasing if there exist a positive increasing sequence  $(c_n)$  and two positive constants  $A$  and  $B$  such that

$$Ac_n \leq b_n \leq Bc_n \text{ (see [8]).}$$

Obviously every increasing sequence is almost increasing sequence but the converse need not be true as can be seen from the example  $b_n = n \exp(-1)^n$ .

Recently, Bor<sup>3</sup> has proved the following theorem on  $|\bar{N}, p_n|_k$  summability factors of an infinite series.

**Theorem A** — Let  $(p_n)$  be a sequence of positive numbers such that

$$P_n = O(n p_n) \text{ as } n \rightarrow \infty. \tag{7}$$

If  $(X_n)$  is a positive monotonic non-decreasing sequence such that

$$\lambda_m X_m = O(1), \text{ as } m \rightarrow \infty, \tag{8}$$

$$\sum_{n=1}^m nX_n |\Delta^2 \lambda_n| = O(1), \tag{9}$$

and 
$$\sum_{n=1}^m \frac{p_n}{P_n} |t_n|^k = O(X_m), \text{ as } m \rightarrow \infty, \tag{10}$$

then the series  $\sum_{n=0}^{\infty} a_n \lambda_n$  is summable  $|\bar{N}, p_n|_k, k \geq 1$ .

### 2. MAIN RESULT

The aim of this paper is to generalize Theorem A for  $|\bar{N}, p_n, \phi_n|_k$  summability. In addition we are also weakening the hypotheses of the theorem A by replacing the increasing sequence  $(X_n)$  by an almost increasing sequence.

In fact, we shall prove the following theorem :

**Theorem** — Let  $(X_n)$  be an almost increasing sequence and the sequences  $(\lambda_n)$  and  $(p_n)$  are such that the conditions (7) — (9) of Theorem A are satisfied and

$$\sum_{n=1}^m \phi_n^{k-1} \left( \frac{p_n}{P_n} \right)^k |t_n|^k = O(X_m), \text{ as } m \rightarrow \infty, \tag{11}$$

where  $(\phi_n)$  be a sequence of positive real constants such that  $\left( \frac{\phi_n p_n}{P_n} \right)$  is non-increasing sequence,

then the series  $\sum_{n=0}^{\infty} a_n \lambda_n$  is summable  $|\bar{N}, p_n, \phi_n|_k, k \geq 1$ .

*Remark* : It should be noted that, if we take  $(X_n)$  as a positive non-decreasing sequence and  $\phi_n = \frac{p_n}{P_n}$  in this theorem, then we get theorem A. In this case condition (11) reduces to the condition

(10) and the condition  $\left( \frac{\phi_n p_n}{P_n} \right)$  is non-increasing sequence becomes redundant.

We need the following lemma for the proof of our theorem.

*Lemma*<sup>7</sup> — Under the conditions on  $(X_n)$  and  $(\lambda_n)$  which are taken in the statement of our theorem, the following conditions hold :

(i)  $nX_n |\Delta \lambda_n| = O(1)$  as  $n \rightarrow \infty,$  ... (12)

(ii)  $\sum_{n=1}^{\infty} X_n |\Delta \lambda_n| < \infty$  ... (13)

and (iii)  $X_n |\lambda_n| = O(1),$  as  $n \rightarrow \infty.$  ... (14)

3. PROOF OF THE THEOREM

Let  $(T_n)$  be the sequence of  $(N, p_n)$  means of the series  $\sum_{n=1}^{\infty} a_n \lambda_n$ . Then, by definition, we have

$$T_n = \frac{1}{P_n} \sum_{v=1}^n p_v s_v = \frac{1}{P_n} \sum_{v=0}^n p_v \sum_{z=0}^v a_z \lambda_z = \frac{1}{P_n} \sum_{v=0}^n (P_n - P_{v-1}) a_v \lambda_v.$$

Then, for  $n \geq 1$ , we get

$$T_n - T_{n-1} = \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} a_v \lambda_v = \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^n \frac{P_{v-1} \lambda_v v a_v}{v}. \tag{15}$$

Now applying Able's transformation to the right-hand side of (15) we get

$$\begin{aligned} T_n - T_{n-1} &= \frac{(n+1) p_n t_n \lambda_n}{n P_n} - \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} p_v t_v \lambda_v \frac{v+1}{v} \\ &\quad + \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v t_v \Delta \lambda_v \frac{v+1}{v} + \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v t_v \lambda_{v+1} \frac{1}{v}. \\ &= T_{n,1} + T_{n,2} + T_{n,3} + T_{n,4}, \text{ say.} \end{aligned}$$

Since  $|T_{n,1} + T_{n,2} + T_{n,3} + T_{n,4}|^k$

$$\leq 4^k (|T_{n,1}|^k + |T_{n,2}|^k + |T_{n,3}|^k + |T_{n,4}|^k),$$

to complete the proof of the theorem, it is enough to show that

$$\sum_{n=1}^{\infty} \phi_n^{k-1} |T_{n-z}|^k < \infty \text{ for } z = 1, 2, 3, 4. \tag{16}$$

First we have

$$\begin{aligned} \sum_{n=1}^m \phi_n^{k-1} |T_{n,1}|^k &= \sum_{n=1}^m \phi_n^{k-1} \left| \frac{(n+1) p_n t_n \lambda_n}{n P_n} \right|^k \\ &= O(1) \sum_{n=1}^m \phi_n^{k-1} \left( \frac{p_n}{P_n} \right)^k |t_n|^k |\lambda_n|^{k-1} |\lambda_n| \end{aligned}$$

$$\begin{aligned}
&= O(1) \sum_{n=1}^m \phi_n^{k-1} |\lambda_n| \left( \frac{P_n}{P_n} \right)^k |t_n|^k \\
&= O(1) \sum_{n=1}^{m-1} \Delta |\lambda_n| \sum_{\nu=1}^n \phi_\nu^{k-1} |t_\nu|^k \left( \frac{P_\nu}{P_\nu} \right)^k + O(1) |\lambda_m| \sum_{\nu=1}^m \phi_\nu^{k-1} |t_\nu|^k \left( \frac{P_\nu}{P_\nu} \right)^k \\
&= O(1) \sum_{n=1}^{m-1} \Delta |\lambda_n| X_n + O(1) |\lambda_m| |X_m|, \text{ by (11)} \\
&= O(1) \sum_{n=1}^{m-1} |\Delta \lambda_n| X_n + O(1) |\lambda_m| |X_m| \\
&= O(1) \text{ as } m \rightarrow \infty, \text{ (by (13), (14)).}
\end{aligned}$$

Again for  $k > 1$  and applying Holder's inequality with indices  $k$  and  $k'$ , where  $1/k + 1/k' = 1$ , as in  $T_n$ , we have

$$\begin{aligned}
&\sum_{n=2}^{m+1} \phi_n^{k-1} |T_{n,2}|^k \\
&= \sum_{n=2}^{m+1} \phi_n^{k-1} \left| -\frac{P_n}{P_n P_{n-1}} \sum_{\nu=1}^{n-1} p_\nu t_\nu \lambda_\nu \frac{\nu+1}{\nu} \right|^k \\
&= O(1) \sum_{n=2}^{m+1} \phi_n^{k-1} \left( \frac{P_n}{P_n} \right)^k \frac{1}{P_{n-1}} \left\{ \sum_{\nu=1}^{n-1} p_\nu |t_\nu|^k |\lambda_\nu|^k \right\} \left\{ \frac{1}{P_{n-1}} \sum_{\nu=1}^{n-1} p_\nu \right\}^{k-1} \\
&= O(1) \sum_{n=2}^{m+1} \phi_n^{k-1} \left( \frac{P_n}{P_n} \right)^k \frac{1}{P_{n-1}} \left\{ \sum_{\nu=1}^{n-1} p_\nu |t_\nu|^k |\lambda_\nu|^k \right\} \\
&= O(1) \sum_{\nu=1}^m p_\nu |t_\nu|^k |\lambda_\nu|^k \sum_{n=1}^{\nu+1} \left( \frac{\phi_n P_n}{P_n} \right)^{k-1} \frac{P_n}{P_n P_{n-1}} \\
&= O(1) \sum_{\nu=1}^m \left( \frac{\phi_\nu P_\nu}{P_\nu} \right)^{k-1} p_\nu |t_\nu|^k |\lambda_\nu|^k \sum_{n=1}^{\nu+1} \frac{P_n}{P_n P_{n-1}} \\
&= O(1) \sum_{\nu=1}^m \phi_\nu^{k-1} |\lambda_\nu| \left( \frac{P_\nu}{P_\nu} \right)^k |t_\nu|^k
\end{aligned}$$

$$\begin{aligned}
&= O(1) \sum_{v=1}^{m-1} \Delta |\lambda_v| \sum_{i=1}^v \phi_i^{k-1} |t_i|^k \left(\frac{p_i}{P_i}\right)^k + O(1) \lambda_n \sum_{i=1}^m \phi_i^{k-1} |t_i|^k \left(\frac{p_i}{P_i}\right)^k \\
&= O(1) \sum_{n=1}^{m-1} \Delta |\lambda_v| X_n + O(1) |\lambda_m| X_m, \text{ (by (11))} \\
&= O(1) \sum_{n=1}^{m-1} |\Delta \lambda_n| X_n + O(1) |\lambda_m| X_m \\
&= O(1) \text{ as } m \rightarrow \infty, \text{ (by (13), (14)).}
\end{aligned}$$

Again we have

$$\begin{aligned}
&\sum_{n=2}^{m+1} \phi_n^{k-1} |T_{n,3}|^k \\
&= O(1) \sum_{n=2}^{m+1} \phi_n^{k-1} \left(\frac{P_n}{P_n}\right)^k \frac{1}{P_{n-1}} \left\{ \sum_{v=1}^{n-1} v |\Delta \lambda_v|^k p_v |t_v|^k \right\} \left\{ \frac{1}{P_{n-1}} \sum_{v=1}^{n-1} p_v \right\}^{k-1} \\
&= O(1) \sum_{v=1}^m v |\Delta \lambda_v|^k p_v |t_v|^k \sum_{n=1}^{v+1} \left(\frac{\phi_n p_n}{P_n}\right)^{k-1} \frac{p_n}{P_n P_{n-1}} \\
&= O(1) \sum_{v=1}^m \left(\frac{\phi_v p_v}{P_v}\right)^{k-1} v |\Delta \lambda_v| |p_v |t_v|^k \frac{1}{P_v} \\
&= O(1) \sum_{v=1}^{m-1} |\Delta(v |\Delta \lambda_v|)| \sum_{i=1}^v \phi_i^{k-1} |t_i|^k \left(\frac{p_i}{P_i}\right)^k \\
&\quad + O(1) m |\Delta \lambda_m| \sum_{i=1}^m \phi_i^{k-1} |t_i|^k \left(\frac{p_i}{P_i}\right)^k \\
&= O(1) \sum_{v=1}^{m-1} v X_v |\Delta^2 \lambda_v| + O(1) \sum_{v=1}^{m-1} X_v |\Delta \lambda_{v+1}| + O(1) m |\Delta \lambda_m| X_m \\
&= O(1) \text{ as } m \rightarrow \infty \text{ (by (9), (12) \& (13)).}
\end{aligned}$$

Finally, using the fact  $P_n = O(np_n)$  by (7), as in  $T_{n,1}$ , we have that

$$\begin{aligned} & \sum_{n=1}^{m+1} \phi_n^{k-1} |T_{n,4}|^k \\ &= \sum_{n=1}^{m+1} \phi_n^{k-1} \left| \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v t_v \lambda_{v+1} \frac{1}{v} \right|^k \\ &= O(1) \sum_{v=1}^m \phi_v^{k-1} |\lambda_{n+1}| \left( \frac{P_v}{P_v} \right)^k |t_v|^k \\ &= O(1) \text{ as } m \rightarrow \infty. \end{aligned}$$

Therefore, we get

$$\sum_{n=1}^{\infty} \phi_n^{k-1} |T_{n,z}|^k < \infty \text{ for } z = 1, 2, 3, 4.$$

If we take  $p_n = 1$  and  $\phi_n = n$  for all values of  $n$  in this theorem, then we get a result concerning the  $|C, 1|_k$  summability methods.

#### ACKNOWLEDGEMENT

This research paper was support by U.G.C. unassigned grant of the M.S. University of Baroda (GCU/6/2034). Authors are thankful to the referee for his valuable suggestions.

#### REFERENCES

1. T. M. Flett, *Proc. London Math. Soc.* **7** (1957) 113-41.
2. G. H. Hardy, *Divergent Series*, Oxford University Press, New York and London, 1949.
3. H. Bor, *Proc. Amer. Math. Soc.* **118** No. 1, (1993) 71-75.
4. H. Bor, *Math. Proc. Camb. phil. Soc.* **97** (1985) 147-49.
5. E. Kogbetiantz, *Bull. Sci. Mat.* **49** (1925) 234-56.
6. W. T. Sulaiman, *Proc. Amer. Math. Soc.* **115** (1992) No. 2 313-17.
7. S. M. Mazhar, *Indian J. Math.*, **40** (1998) No. 2, 123-31.
8. S. Aljancic and D. Arandelovic, *Publ. Inst. Math.*, **22** (1977) 5-22.

